B A IR

BIfEHA . A 248 48 98 (K) BE G v MY —{EEER
B . REALT 4 BN BON (B - 44 - &k 15A)
HDCP LR :
2= OUT IN 1/ 2
FIERZRE © 7 a2 UNSWIE) - Fid (k& WIE) FIR - 4Fn 24 4A12H (H)
JIE 57 SN 4 oUT IN GROSS | HDCP NET 1t 3
1AL | A 'z 44 43 87 28.0 59.0 |EA Y
2 N | RIS 50 48 98 | 34.0 64.0 | HA Y
3 AL | et PRER 48 41 89 23.0 66.0 |EHV
4 fir | =% T+ 47 46 93 | 25.0 68.0 | HAY
5 fr [ EET 55 49 104 | 36.0 68.0 | HAY
6 L |[IAA IE 51 49 100 31.0 69.0
(VAR NEIN 50 45 95 25.0 70.0
8 AL | KR 51 44 42 86 15.0 71.0
9 fif |BH K 44 43 87 16.0 71.0
10 {7 | == &EAT 47 45 92 20.0 72.0
11 A7 [ I T &5 53 51 104 32.0 72.0
12 fr |18 gzt 54 54 108 36.0 72.0
13 7 | R— 45 49 94 21.0 73.0
14 7 | A ik 45 53 98 25.0 73.0
15 0 | i K 54 51 105 32.0 73.0
16 {7 | &K BT 45 41 86 12.0 74.0
17 A7 | J5 48 45 93 19.0 74.0
18 fir | HJ5 & 48 54 102 28.0 74.0
19 fif | KA 225 56 54 110 36.0 74.0
20 N | KA HEK 44 43 87 12.0 75.0
21 fif |/l TEA 46 44 90 15.0 75.0
22 fif | HTH A 49 52 101 26. 0 75.0
23 fif | WP Fnv 56 50 106 31.0 75.0
24 A7 | IUH FEER 50 46 96 20. 0 76.0
25 i, | S1EH 48 51 99 22.0 77.0
26 1. | ILJE E& 43 45 88 10.0 78.0
27 fir | @ EA 45 47 92 14. 0 78.0
28 i | (L FnZ 51 46 97 19.0 78.0
29 N | fail s 51 56 107 29.0 78.0
30 fir | M4 BLF 57 57 114 36.0 78.0
31 0 | i R 45 41 86 7.0 79.0
32 L | JEve HiE T 50 53 103 24.0 79.0
33 AL | AR EHRT 53 62 115 36. 0 79.0
34 fif | K& —R 43 51 94 14.0 80.0
35 N7 | IR fil 49 45 94 14.0 80.0
36 fif |[IAF £ 50 47 97 17.0 80.0
37 L | A i1 52 48 100 20.0 80.0
38 fL | ITRE St7E 48 59 107 27.0 80.0
39 7. | BLE 43 46 89 8.0 81.0
40 {7 |6 T 46 48 94 13.0 81.0
41 7 | A H FR 51 48 99 18.0 81.0
42 fir | EE =58 49 46 95 13.0 82.0
43 fif | Z2H gl 46 52 98 16.0 82.0
44 A7 | $FTH B+ 53 49 102 20. 0 82.0
45 {7 | TR F5HI 53 50 103 21.0 82. 0
46 A7 | g BT 52 52 104 22.0 82.0
47 AL | A FET 57 61 118 36.0 82.0
0 0

48 f | TR 7= 48 46 94 11. 83.




B A IR

BIfEHA . A 248 48 98 (K) BE G v MY —{EEER
B . RIS BN BON (B - 44 - &k 15A)
HDCP LR :
2= OUT IN 2/ 2
FIERZRE © 7 a2 UNSWIE) - Fid (k& WIE) FIR - 4Fn 24 4A12H (H)
JIE 57 SN 4 oUT IN GROSS | HDCP NET it &

49 7 | B+ 54 49 103 20.0 83.0

50 i | R JEVeE 55 50 105 22.0 83.0

51 fif | &k V%7 52 53 105 22.0 83.0

52 1. |JEH BF—RE 53 60 113 30.0 83.0

53 1. | B Zwoe 45 49 94 9.0 85.0

54 fir | KM H 7= 53 53 106 21.0 85.0

55 fif |50 2 61 60 121 36.0 85.0

56 fir | By H B 61 53 114 28.0 86. 0

57 i | ] HE#d 62 58 120 32.0 88.0

58 L | &R (A 43 49 92 1.0 91.0

59 i | ey BHE 57 61 118 26.0 92.0




